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Candidates are requircd to give their answers in

theirown wodsas farasp mcticabte.
s#qrerT q?-rffir?-d orr+ vE} f d, rrr { I

The figures in the margin indicate full marks.
wlil+o1*.Xrrfil*atr6d r

Answerfrom ail theParfs as directed.

ftf{rryr u.l+? rrr'} * rar ff r

Part*A
qIT -q

(Objective Type euestions)
(qqPtu :nql

Choose the correct answerfrom the followlng :

24A = 20
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f{qfrfud fr t F& td*,''iq fl u+q ftt "

(a) The subject-matter of Logic is :

rt{n€fiftq-qqf ;

(i) PercePtion

SdIH

(ii) lnference

3r{qH

(iii) lntuition

eid:grn

(iv) None of thesP

gqfr t 
"ti 

qfr

(b) Argumentare:

gtuqitfrt,
(i) Eithertrue orfalse

qr fr rrg, sI 3T{l-dl

(iD Eithervalid orinvalid

qrfrfuqt3Teq

(iii) Both true orfalse

(fl *{ emr€ tfr
(iv) None of these

r+t i *,F{ ftT

xz-3414 (2) Contd.



(c) The predicate of a negative proposition is

always distributed this statement is :

ftq?Tr.qs r*Erfl w fttlq ah'n qH (ctrr t,
q5 enr+ i .

(a) True

get

(ii) False

3ETdI

(iii) Doubtful

E{6rcqq,

(iv) None of these

E{+ t +{ qd

(d) A proposition consists of :

qqiTrffisem* airr*tt ,

(i) Two (ii)

a
(iii) Four (iv)

qR

(e) A proposition is :

Hlffffiqrq *mt 
'

(i) Eithertrue orfalse

qr * vs sT 3r{rf,I

r+t t *ti'rfr
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(iU Either valid or tnvalid

qT fr Aq qT 3{&?r

(iii) Both valid and invalid

tu afu m&q €rit

(ivi None of these

r+q + *i'{-{f

1f)'0' ProPositiondistributesits 
:

'0' alf4>$ qtw qs sTdT t, gqt :

{i) OnlY s'.rbiect

kq*{ saTq %1

tii) OnlY Predicate

;6419*{ q*

(lii) Subiect and Predicate both

st{q .n A0q +it qt

(iv) None of these

rqil t st$ {fr
(g) The obversion of E proposition is :

ErtqrryEInffi{tart,
(i) A fii) E

Aq Efr

(iv) o
OE
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tiii) Third figure (tv) Fourthftgure

{ff smrtw e.d erffiTq$l

(i) What !s the logical relation between 'l' aRd

(h) Celarent is a rnood of :

Cetarent{rrt t :

(ii Firstfiqure (ii)

st{ 3fiqig6'

la
ET

(i) $ubcontrarY

urgffimwt
(iii) Gontradiction

qTqlirfitfl6I

Second figure

f#drq $r6,q-6r

(in GontrarY

fficmet
(iv) Subalternation

gqlf$rdl6T

0

"AZ-3414

(i) Contradiction

qlEntrfiilTsI

(iii) $tlbcontrary

rEHrfi'amot

'O' ProPosition ?

'A *{ '0' } fiq mlq-ql Trffis qE$+r t t

(iU ContrarY

ffia-mct
(iv) Subalternation

gqrffdill sl

(Tum over)

'0'ProPositicn ?

,l' 3ft '0' w,M fu *q frlq-$i affim q'qeT
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Part - B
qFT - IT

{S hort'an$wer TYPe Questions}

ftrg-wftr xra)

A,nsv+er any four questions of the following :

5x4 * 20

fl#afrqfuH fr a ftd qr-{ Y'$it * wn t 
'

2. Distinguish between eoncrete and obiectterms'

qqqqfr qi qrdqmfi qf, t ;q-d{ u.dffi{t t

3. Distinguish between particular and universal

ProPositions'

$tqram* d' YYffi ETffiffi qreq] fr 3p61 Etrrn-S t

4. Describe the logical characters of the following

terms:

ftrefoka.rA + aTH,q 6q{sr qoh fiftq :

(a) Blind

aiqr

(b) ArmY

t{l

Contd
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5. Distinguish between Deductive and lnductive

Arguments'

ftrr+rmqi gTlqr{reqq,gf it+dm tqfrkq t



7

Give the converse of the following :

Fr{ft{ka sr 3rrcffia {&q 
'

(a) Every student is laborious

resftureffffit
(b) Teachers are nevercruel'

ftrqTs qrft q-&r rS at t t

ExPlain thefollowing :

Frqfefu(fiqrsrfftqq:
(a) Illicit major

3r-gknffi
(b) Illicit minor

srgRfr Eg

Part - C
qrq -q

(Long-answer TYPe Questions)

ffi$-mft sn)

Answer any three questions of the following :

10x3 = 30

Y,,Z-3414
(Tum over)

nqPofucfrtffifrqyfii*rtnt:
8. Explain clearly the formal nature of Syllogistic

Arguments'

am-gM + snqlfs H6q ff qqE qTGerT firfrq t

t

1



g.

10.

Give the contradiction, contrary, subaltern,

Subcontrary of the following where possible :

fuTfrfufr 16T EqTElrflqr, ffifr, snffd qi s{ftqftfr
qEi Thrq A 4ftilq ,

Only intelligent boys oan understand logic.

+m&qnsS*il#{nqsqsilt r

'O'cannot be converted. Explain.

'O's[ ffiqdT =rS t n | 6ET@TI frFqg t

11. All terms are words but all words are not terms.

Discuss.

q$ w Yrq t t*,€ mft qrq qq rfr t I fttqa1q1 ,

'12. Discuss the nature of Copula.
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